

# Dynamical Behavior of Symmetric Weighted Median mapping on Two-dimensional Real Sequences Space $R_s$ \*

Wanzhou Ye

Department of Mathematics, Shanghai University, Shanghai 200444

E-mail yewanzhou@eyou.com

**Abstract** In this paper, we obtain a fundamental result on dynamical behavior of symmetric weighted mapping for two-dimensional real sequences space  $R_s$ .

**Keywords:** symmetric weighted median mapping, root, recurrent sequence.

Linear filters have been the primary tool for signal processing for some time. They are easy to design, and in most cases, they offer excellent performance. This is particularly true for spectral separation where the desired signal spectrum is significantly different from that of the interference. Not all signal processing problems can be satisfactorily addressed through the use of linear filters. Linear filters tend to blur sharp edges, fail to remove heavy tailed distribution noise effectively, and perform poorly in the presence of signal-dependent noise([1],[2],[3]). Median-type filters have been subject to growing interest since the discovery of the standard median filter by Tukey[4], who applied it to the smoothing of statistical data. Pratt[5] was the first to use median filter in image processing. Later median-type filters have shown their usefulness in many one- and two-dimensional applications. The success of median-type filters is based on two intrinsic properties: edge preservation and efficient noise attenuation with robustness against impulsive-type noise. As median-type filters are nonlinear, they cannot be analyzed with classical linear techniques. They have been characterized statistically, using order statistics[6]-[8], and syntactically, using the idea of roots(invariant signals)[9]-[13]. The syntactic

---

\*This work was supported by China Postdoctoral Science Foundation

analysis has been quite successful, as it has shown which signals are invariant to these filters. For finite length signals, Gallagher and Wise[9] proved arbitrary finite length signal is a median filter root if it consists of constant neighborhoods and edges only(see also Tyan[14]). They also proved that repeated median filtering of any finite length signal will result in a root signal after a finite number of passes. The property of median filters is very significant and is called the "convergence of property", the tightest known bound on the number of passes of the median filter necessary to reach a root can be found in[15]. Wendt[22] proved that symmetric weighted threshold filters make any of finite length signals converge to a root or to cycle of period 2, which means that the output of the filter oscillates between two signals on successive passes of the filter. Center weighted median filters[16], which give more weight only to the center value of the window, are possess the convergence property. Zheng[18],[19] considers weighted median filters, with symmetric nondecreasing weights. In the usual case a root consists only of CNs (constant neighborhoods) and edges. For infinite length signals, Astola *et al* [17]showed that the median, recursive median and hybrid filters may have oscillatory infinitely long root signals. Eberly *et al*[20] proved that the set of roots with no monotone segment of length  $N+1$  is finite, and each root is periodic. Given  $N$ , the authors give a constructive procedure able to list all such roots. Mao *et al*[21] presented a class of infinite length signals associated to the width of window of the median filter, and this median filter can make any signal in this class converge to a root. To my knowledge, there has been little research on two-dimensional symmetric weighted filters, particularly for infinite two-dimensional signals. In this paper, we obtain a fundamental result on dynamical behavior of symmetric weighted filter. Our method is effective to one-dimensional infinite length signals or finite two-dimensional signals by modifying slightly.

In this paper,  $k$  is a fixed positive integer,  $Z$  is the set of integers, and  $N$  is the set of nonnegative integers.  $R$  is the set of real numbers.

Suppose that

$w(i, j) \in N, i, j = 0, \pm 1, \pm 2, \dots, \pm k, w(i, j) = w(-i, -j), w(0, 0)$  is odd, and  $H = \frac{1}{2}(1 + \sum_{i,j=-k}^k w(i, j))$ . Let  $x = \{x(m, n)\}$  is a two-dimensional sequence, and  $x^{(1)} = \{x^{(1)}(m, n)\}$ , for  $m, n \in Z$ ,

$$x^{(1)}(m, n) =$$

$\text{Median}\{w(i-m, j-n) \diamond x(i, j) : m-k \leq i \leq m+k, n-k \leq j \leq n+k\}$ , which is denoted by  $wx[m, n : k]$ , where  $n \diamond x = \underbrace{x, \dots, x}_n$ . In particular,

$$0 \diamond x = \emptyset.$$

Let  $R_s = \{\{x(m, n)\} | x(m, n) \in R, m, n \in Z\}$  and a mapping

$$WF_k : R_s \mapsto R_s,$$

where for each  $x = \{x(m, n)\} \in R_s$ , let  $WF_k(x) = x^{(1)} = \{x^{(1)}(m, n)\} \in R_s$ , we call  $WF_k$  symmetric weighted mapping on the space  $R_s$ , and

$$(WF_k)^p(x) = x^{(p)} = \{x^{(p)}(m, n)\}, \text{ for } p \geq 1.$$

For a fixed  $x = \{x(m, n)\} \in R_s$ , if, for any  $m, n \in Z$ ,  $\lim_{p \rightarrow \infty} x^{(p)}(m, n) = r(m, n)$  is a real number, we say that  $x$  is convergent with respect to the mapping  $WF_k$ , denoted by  $x^{(p)} \rightarrow r(p \rightarrow \infty)$ , where  $r = \{r(m, n)\}$ .

## 1 Main result and propositions

The main result in this paper is the following theorem.

**Theorem 1** *Suppose that  $x = \{x(m, n)\} \in R_s$ . Then, when  $p \rightarrow \infty$ , both  $x^{(2p)}$  and  $x^{(2p-1)}$  are convergent. Moreover, if let  $x^{(2p)} \rightarrow \alpha$  and  $x^{(2p-1)} \rightarrow \beta$ , then  $(MF_k)^2(\alpha) = \alpha$ ,  $(MF_k)^2(\beta) = \beta$ , and  $MF(\alpha) = \beta$ ,  $MF_k(\beta) = \alpha$ .*

In the section, suppose below that  $x = \{x(m, n)\} \in R_s$  with  $x(m, n) \in \{-1, 1\}$  for  $m, n \in Z$ .

We next give some relevant propositions for proving the above theorem.

**Proposition 1** *Suppose that the real sequence  $v = \{v(n)\}_{n \in Z}$  satisfies the following three conditions*

(i)  $v(n) = v(-n), n \in Z$ ;

(ii)  $1 = v(0) > v(1) > \dots > v(2k) = \sqrt{\frac{H}{H+1}}$ ;

(iii)  $v(r) = \sqrt{\frac{H}{H+1}}v(r-2k)$  for each  $r > 2k$ .

Then  $v(n) > 0$  and  $\sum_{m, n \in Z} v(m)v(n) < \infty$ . Moreover, for each  $(m, n), m, n \in Z$ , we have

$$\sum_{i=m-k}^{m+k} \sum_{j=n-k}^{n+k} v(i)v(j)w(i, j)u(i, j) \cdot \sum_{i=m-k}^{m+k} \sum_{j=n-k}^{n+k} w(i, j)u(i, j) > 0, \quad (1)$$

where  $u(m, n) = 1$  or  $-1, m, n \in Z$ .

**Proof**  $v(n) > 0$  and  $\sum_{m, n \in Z} v(m)v(n) < \infty$  are trivial. Now we prove (1).

Since  $\sum_{i=m-k}^{m+k} \sum_{j=n-k}^{n+k} w(i, j)|u(i, j)| = 2H + 1$ ,

$$\sum_{i=m-k}^{m+k} \sum_{j=n-k}^{n+k} w(i, j)u(i, j) \neq 0.$$

If

$$\sum_{i=m-k}^{m+k} \sum_{j=n-k}^{n+k} w(i, j)u(i, j) = \sum_{u(i, j)=1} w(i, j) - \sum_{u(i, j)=-1} w(i, j) > 0,$$

we have

$$\sum_{u(i, j)=1} w(i, j) \geq H + 1 \quad \text{and} \quad \sum_{u(i, j)=-1} w(i, j) \leq H.$$

Thus

$$\begin{aligned} & \sum_{i=m-k}^{m+k} \sum_{j=n-k}^{n+k} v(i)v(j)w(i, j)u(i, j) \\ &= \sum_{u(i, j)=1} v(i)v(j)w(i, j) - \sum_{u(i, j)=-1} v(i)v(j)w(i, j) \\ &> \min v[m-k, m+k] \min v[n-k, n+k] \sum_{u(i, j)=1} w(i, j) \\ &\quad - \max v[m-k, m+k] \max v[n-k, n+k] \sum_{u(i, j)=-1} w(i, j) \\ &\geq (H+1) \min v[m-k, m+k] \min v[n-k, n+k] \\ &\quad - (H) \max v[m-k, m+k] \max v[n-k, n+k], \end{aligned}$$

where  $\min v[i, j] = \min\{v(i), v(i+1), \dots, v(j)\}$ ,  $\max v[i, j] = \max\{v(i), v(i+1), \dots, v(j)\}$ . By the definition of sequence  $v$ , for any  $n-k \leq i \leq n+k$

$$v(n-k) \geq v(i) \geq v(n+k) \quad \text{and} \quad v(n+k) = \sqrt{\frac{H}{H+1}}v(n-k) \quad \text{for } n \geq k,$$

$$v(n-k) \leq v(i) \leq v(n+k) \quad \text{and} \quad v(n-k) = \sqrt{\frac{H}{H+1}}v(n+k) \quad \text{for } n \leq -k,$$

$$\sqrt{\frac{H}{H+1}} \leq v(i) \leq 1 \quad \text{for } |n| < k.$$

So we have

$$(H+1) \cdot \min v[m-k, m+k] \min v[n-k, n+k] - H \cdot \max v[m-k, m+k] \max v[n-k, n+k] \geq 0.$$

Thus  $\sum_{i=m-k}^{m+k} \sum_{j=n-k}^{n+k} v(i)v(j)w(i, j)u(i, j) > 0$ . (1) holds.

$$\text{If } \sum_{i=m-k}^{m+k} \sum_{j=n-k}^{n+k} w(i, j)u(i, j) < 0, \text{ then } \sum_{i=m-k}^{m+k} \sum_{j=n-k}^{n+k} w(i, j)(-u(i, j)) > 0.$$

By a similar argument, we can get  $\sum_{i=m-k}^{m+k} \sum_{j=n-k}^{n+k} v(i)v(j)w(i, j)(-u(i, j)) > 0$ .

Therefore (1) holds.  $\square$

Secondly by the definition of  $MF_k$ , we immediately have

**Proposition 2** Suppose that  $x = \{x(m, n)\} \in R_s$  with  $x(m, n) = 1$  or  $-1$  for each  $(m, n), m, n \in Z$ . Then

$$x^{(1)}(m, n) = \begin{cases} 1, & \text{if } \sum_{i=m-k}^{m+k} \sum_{j=n-k}^{n+k} w(i, j)x(i, j) > 0, \\ -1, & \text{if } \sum_{i=m-k}^{m+k} \sum_{j=n-k}^{n+k} w(i, j)x(i, j) < 0, \end{cases} \quad m, n \in Z.$$

Now let  $\{v(n)\}_{n \in Z}$  be the sequence defined in Proposition 1. For each  $x = \{x(m, n)\} \in R_s, x(m, n) = 1$  or  $-1$ , let

$$E(x) = \sum_{m, n, s, t \in Z} v(m)v(n)v(s)v(t)b(m, n; s, t)x^{(1)}(m, n)x(s, t),$$

where

$$b(m, n; s, t) = \begin{cases} w(m-s, n-t), & \text{if } |m-s|, |n-t| \leq k, \\ 0, & \text{otherwise,} \end{cases} \quad m, n, s, t \in Z.$$

**Proposition 3** Suppose that  $x = \{x(m, n)\} \in R_s$  with  $x(m, n) = 1$  or  $-1$  for each  $m, n \in Z$ . Then for each  $p \in N$

$$E(x^{(p)}) - E(x^{(p-1)}) =$$

$$\sum_{m, n \in Z} v(n)v(m) \cdot \left[ \sum_{s=m-k}^{m+k} \sum_{t=n-k}^{n+k} v(s)v(t)x^{(p)}(s, t) \right] \cdot [x^{(p+1)}(m, n) - x^{(p-1)}(m, n)], \quad (2)$$

where items in the series are non-negative, and  $\{E(x^{(p-1)})\}_{p>1}$  is a bounded increasing sequence.

**Proof** Now we first prove that  $\{E(x^{(p-1)})\}_{p>1}$  is a bounded sequence. In fact, by Proposition 1,2, and the definition of  $E(x)$ ,

$$\begin{aligned} & |E(x^{(p-1)})| \\ &= \left| \sum_{m, n, s, t \in Z} v(m)v(n)v(s)v(t)b(m, n; s, t)x^{(p-1)}(m, n)x^{(p-1)}(s, t) \right| \\ &\leq \sum_{m, n, s, t \in Z} v(m)v(n)v(s)v(t)b(m, n; s, t) \\ &= \sum_{m, n \in Z} v(m)v(n) \left[ \sum_{s=m-k}^{m+k} \sum_{t=n-k}^{n+k} v(s)v(t)w(s, t) \right] \end{aligned}$$

$$\begin{aligned}
&< \sum_{m,n \in \mathbb{Z}} v(m)v(n) \sum_{s=m-k}^{m+k} \sum_{t=n-k}^{n+k} w(s,t) \\
&\leq (2H+1) \sum_{m \in \mathbb{Z}} v(m) \sum_{n \in \mathbb{Z}} v(n) < \infty.
\end{aligned}$$

Secondly, we prove that (2) holds.

By  $b(m, n; s, t) = b(s, t; m, n)$ , we have

$$\begin{aligned}
&E(x^{(p)}) - E(x^{(p-1)}) \\
&= \sum_{m,n,s,t \in \mathbb{Z}} v(m)v(n)v(s)v(t)b(m, n; s, t)x^{(p+1)}(m, n)x^{(p)}(s, t) \\
&\quad - \sum_{s,t,m,n \in \mathbb{Z}} v(s)v(t)v(m)v(n)b(s, t; m, n)x^{(p)}(s, t)x^{(p-1)}(m, n) \\
&= \sum_{m,n,s,t \in \mathbb{Z}} v(m)v(n)v(s)v(t)b(m, n; s, t)x^{(p)}(s, t) \\
&\quad \cdot [x^{(p+1)}(m, n) - x^{(p-1)}(m, n)] \\
&= \sum_{m,n \in \mathbb{Z}} v(m)v(n) \left[ \sum_{s,t \in \mathbb{Z}} v(s)v(t)b(m, n; s, t)x^{(p)}(s, t) \right] \\
&\quad \cdot [x^{(p+1)}(m, n) - x^{(p-1)}(m, n)] \\
&= \sum_{m,n \in \mathbb{Z}} v(m)v(n) \left[ \sum_{s=m-k}^{m+k} \sum_{t=n-k}^{n+k} v(s)v(t)w(s, t)x^{(p)}(s, t) \right] \\
&\quad \cdot [x^{(p+1)}(m, n) - x^{(p-1)}(m, n)].
\end{aligned}$$

If

$$\sum_{s=m-k}^{m+k} \sum_{t=n-k}^{n+k} v(s)v(t)w(s, t)x^{(p)}(s, t) > 0,$$

by (1)

$$\sum_{s=m-k}^{m+k} \sum_{t=n-k}^{n+k} w(s, t)x^{(p)}(s, t) > 0.$$

By Proposition 2,  $x^{(p+1)}(m, n) = 1$ , so

$$x^{(p+1)}(m, n) - x^{(p-1)}(m, n) \geq 0,$$

thus

$$\begin{aligned}
&v(m)v(n) \left[ \sum_{s=m-k}^{m+k} \sum_{t=n-k}^{n+k} v(s)v(t)w(s, t)x^{(p)}(s, t) \right] \\
&\cdot [x^{(p+1)}(m, n) - x^{(p-1)}(m, n)] \geq 0;
\end{aligned}$$

If

$$\sum_{s=m-k}^{m+k} \sum_{t=n-k}^{n+k} v(s)v(t)w(s, t)x^{(p)}(s, t) < 0,$$

by (1)

$$\sum_{s=m-k}^{m+k} \sum_{t=n-k}^{n+k} w(s, t)x^{(p)}(s, t) < 0.$$

By Proposition 2,  $x^{(p+1)}(m, n) = -1$ , so

$$x^{(p+1)}(m, n) - x^{(p-1)}(m, n) \leq 0,$$

thus

$$v(m)v(n) \left[ \sum_{s=m-k}^{m+k} \sum_{t=n-k}^{n+k} v(s)v(t)w(s, t)x^{(p)}(s, t) \right] \cdot [x^{(p+1)}(m, n) - x^{(p-1)}(m, n)] \geq 0.$$

This shows that the items in the series (2) are non-negative. Therefore  $\{E(x^{(p-1)})\}_{p>1}$  is an increasing sequence.

Now let  $x = \{x(m, n)\}_{m, n \in Z} \in R_s$  with  $x(m, n) = 1$  or  $-1$  for each  $(m, n), m, n \in Z$ . By Proposition 3, for each  $(m, n), m, n \in Z$ , we have

$$\lim_{p \rightarrow \infty} \left\{ \left[ \sum_{s=m-k}^{m+k} \sum_{t=n-k}^{n+k} v(s)v(t)w(s, t)x^{(p)}(s, t) \right] \cdot [x^{(p+1)}(m, n) - x^{(p-1)}(m, n)] \right\} = 0. \quad (3)$$

Since  $x^{(p)}(m, n) = 1$  or  $-1$  for any  $p \in N$  and any  $m, n \in Z$ , by Proposition 1

$$\min_{p>1} \left| \sum_{s=m-k}^{m+k} \sum_{t=n-k}^{n+k} v(s)v(t)w(s, t)x^{(p)}(s, t) \right| > 0.$$

Then by (3),  $x^{(p+1)}(m, n) - x^{(p-1)}(m, n) \rightarrow 0$  as  $p \rightarrow \infty$ . Thus  $x^{(p+1)}(m, n) = x^{(p-1)}(m, n)$  if  $p$  is large enough. Therefore both  $\{x^{(2p)}\}_{p \geq 1}$  and  $\{x^{(2p-1)}\}_{p \geq 1}$  are convergent.

We write the above result as the following.

**Proposition 4** *Suppose that  $x = \{x(m, n)\} \in R_s$  with  $x(m, n) = 1$  or  $-1$  for each  $(m, n), m, n \in Z$ . Then both  $\{x^{(2p)}\}_{p \geq 1}$  and  $\{x^{(2p-1)}\}_{p \geq 1}$  are convergent.*

## 2 Proof of main result

We first define some notations.

Let  $x = \{x(m, n)\}, y = \{y(m, n)\} \in R_s$ , and let  $\lambda$  be a real number. In this case,  $x + y$  and  $\lambda x$  are defined as

$$(x + y)(m, n) = x(m, n) + y(m, n), \quad (\lambda x)(m, n) = \lambda x(m, n), \quad m, n \in Z;$$

$x_+$  and  $x_-$  are defined as

$$x_+(m, n) = \max\{0, x(m, n)\}, \quad x_-(m, n) = \max\{0, -x(m, n)\}, \quad m, n \in Z;$$

$x_+$  and  $x_-$  are called the positive part and the negative part of  $x$  respectively and both of them are non-negative sequences.

$$\begin{aligned} & \{x(i, j)\}_{m-k \leq i \leq m+k, n-k \leq j \leq n+k} \text{ are denoted by } x[m, n : k]; \\ & \min x[m, n : k] = \min\{x(i, j) : m-k \leq i \leq m+k, n-k \leq j \leq n+k\}; \\ & \max x[m, n : k] = \max\{x(i, j) : m-k \leq i \leq m+k, n-k \leq j \leq n+k\}. \end{aligned}$$

If  $x(i, j) \leq y(i, j)$  for integers  $i, j, m - k \leq i \leq m + k, n - k \leq j \leq n + k$ , we write  $x[m, n : k] \leq y[m, n : k]$ . In particular, we write  $x \leq y$  if  $x(m, n) \leq y(m, n)$  for all integers  $m, n \in Z$ .

**Lemma 1** Suppose that  $x = \{x(m, n)\}, y = \{y(m, n)\} \in R_s$ . Then

(i)  $\max x^{(p+1)}[m, n : k] \leq \max x^{(p)}[m, n : k]$  for any integers  $m, n \in Z$  and  $p \in N$ ;

(ii) If  $x[m, n : k] \leq y[m, n : k]$  for some  $m, n \in Z$ , then  $x^{(1)}(m, n) \leq y^{(1)}(m, n)$ . Particularly  $x^{(p)} \leq y^{(p)}$  for each  $p \in N$  if  $x \leq y$ ;

(iii) If  $y = \{y(m, n)\} \in R_s$  is a constant sequence, then  $(x + y)^{(p)} = x^{(p)} + y^{(p)}$  for each  $p \in N$ ;

(iv) If  $\lambda > 0$ , then  $(\lambda x)^{(p)} = \lambda x^{(p)}$  for each  $p \in N$ ;

(v) For each  $p \in N, x_+^{(p)} = (x^{(p)})_+, x_-^{(p)} = (x^{(p)})_-,$  and  $x^{(p)} = x_+^{(p)} - x_-^{(p)}$ .

(vi) For some integers  $m, n$ , if  $x^{(1)}(m, n) > a$ , then there are at least  $H + 1$  items in  $wx[m, n : k]$  larger than  $a$ ; if  $x^{(1)}(m, n) < a$ , then there are at least  $H + 1$  items in  $wx[n - k, n + k]$  less than  $a$ .

**Proof** (i) For each  $i, j, m - k \leq i \leq m + k, n - k \leq j \leq n + k$ , there are at least  $H + 1$  items in  $wx[i, j : k]$  no larger than  $\max x[m, n : k]$ , so  $x^{(1)}(i, j) \leq \max x[m, n : k]$ . Thus  $\max x^{(1)}[m, n : k] \leq \max x[m, n : k]$ . For general  $p \in N$ , the argument are similar.

(ii), (iii), (iv) and (vi) are trivial.

(v) Fix  $m, n \in Z$ . Suppose  $x^{(1)}(m, n) \geq 0$ . Then there are at least  $H + 1$  items in  $wx[m, n : k]$  no less than 0 and

$$x_+^{(1)}(m, n) = x^{(1)}(m, n) = (x^{(1)})_+(m, n), \quad x_-^{(1)}(m, n) = 0 = (x^{(1)})_-(m, n).$$

Similarly, when  $x^{(1)}(m, n) < 0$ ,

$$x_+^{(1)}(m, n) = 0 = (x^{(1)})_+(m, n), \quad x_-^{(1)}(m, n) = -x^{(1)}(m, n) = (x^{(1)})_-(m, n).$$

Thus (v) holds for  $p = 1$ . By the similar argument, we can prove that (v) holds for  $p \in N$ .

**Proposition 5** Suppose that  $x = \{x(m, n)\} \in R_s$ . Then both  $\{x^{2p}\}_{p \geq 1}$  and  $\{x^{(2p-1)}\}_{p \geq 1}$  are convergent.

**Proof** Assume that for any integers  $m, n, x(m, n) = a$  or  $b, a < b$ . Setting

$$y(m, n) = \frac{2}{b-a}x(m, n) - \left(\frac{2a}{b-a} + 1\right), \quad m, n \in Z.$$



Then  $y(m, n) \in \{-1, 1\}$ ,  $m, n \in Z$ , and by Lemma 1 (iii) and(iv)

$$y^{(p)}(m, n) = \frac{2}{b-a} x^{(p)}(m, n) - \left(\frac{2a}{b-a} + 1\right), \quad m, n \in Z, p \geq 1.$$

Since  $\{y^{(2p)}\}_{p \geq 1}$  and  $\{y^{(p)}\}_{p \geq 1}$  are convergent by Proposition 4,  $\{x^{(2p)}\}_{p \geq 1}$  and  $\{x^{(2p-1)}\}_{p \geq 1}$  are convergent.

Suppose that  $x = \{x(m, n)\} \in R_s$  is a nonnegative real sequence and  $t > 0$ . Let

$$x_t(m, n) = \begin{cases} 1, & \text{if } x(m, n) \geq t, \\ 0, & \text{if } x(m, n) < t, \end{cases} \quad n \in Z.$$

Then  $x_t = \{x_t(m, n)\} \in R_s$  is a binary sequence, and

$$x(m, n) = \int_0^{x(m, n)} x_t(m, n) dt, \quad m, n \in Z.$$

**Proposition 6** Suppose that  $x = \{x(m, n)\} \in R_s$  is a nonnegative sequence. Then both  $\{x^{(2p)}\}_{p \geq 1}$  and  $\{x^{(2p-1)}\}_{p \geq 1}$  are convergent.

**Proof** Fix any  $m, n \in Z$ . If  $t > x^{(1)}(m, n)$ , by Lemma 1(vi), then there are at least  $H+1$  items in  $wx[m, n : k]$  less than  $t$ , so there are at least  $H+1$  items in  $wx_t[m, n : k]$  equal to 0, this implies that  $x_t^{(1)}(m, n) = 0$ ; If  $t < x^{(1)}(m, n)$ , by Lemma 1(vi), then there are at least  $H+1$  items in  $wx[n-k, n+k]$  larger than  $t$ , so there are at least  $H+1$  items in  $wx_t[n-k, n+k]$  equal to 1, this implies that  $x_t^{(1)}(m, n) = 1$ . Hence, if we let  $L(m, n) = \max x[m, n : k]$ , by Lemma 1 (i), then

$$x^{(1)}(m, n) = \int_0^{L(m, n)} x_t^{(1)}(m, n) dt, \quad m, n \in Z$$

Similarly we have

$$x^{(p)}(m, n) = \int_0^{L(m, n)} x_t^{(p)}(m, n) dt, \quad n \in Z, p \geq 1.$$

Fix any  $m, n \in Z$ , by Proposition 5, both  $\{x_t^{(2p)}(m, n)\}$  and  $\{x_t^{(2p-1)}(m, n)\}$  are convergent, therefore, by Lebesgue theorem on dominated convergence,  $\{x^{(2p)}(m, n)\}$  and  $\{x^{(2p-1)}(m, n)\}$  are convergent.

**Proof of Theorem 1** Suppose that  $x = \{x(m, n)\} \in R_s$ . Then  $x_+$  and  $x_-$  are nonnegative sequences. By Proposition 6 and Lemma (v)  $x^{(2p)} = (x_+)^{(2p)} - (x_-)^{(2p)}$  and  $x^{(2p-1)} = (x_+)^{(2p-1)} - (x_-)^{(2p-1)}$  are convergent as  $p \rightarrow \infty$ . Let

$$\lim_{p \rightarrow \infty} x^{(2p)}(m, n) = \alpha(m, n), \quad \lim_{p \rightarrow \infty} x^{(2p-1)}(m, n) = \beta(m, n), \quad \forall m, n \in Z.$$

Fix  $m, n \in Z$  and  $\varepsilon > 0$ . Then there is  $P \geq 1$  such that

$$x^{(2p)}(i, j) - \varepsilon \leq \alpha(i, j) \leq x^{(2p)}(i, j) + \varepsilon, \forall |i - n|, |j - m| \leq k, \forall p > P.$$

By Lemma (ii) and (iii)

$$x^{(2p+1)}(m, n) - \varepsilon \leq \alpha^{(1)}(m, n) \leq x^{(2p+1)}(m, n) + \varepsilon, \forall p > P.$$

Let  $p \rightarrow \infty$ ,

$$\beta(m, n) - \varepsilon \leq \alpha^{(1)}(m, n) \leq \beta(m, n) + \varepsilon.$$

Thus  $\alpha^{(1)}(m, n) = \beta(m, n)$ , since  $\varepsilon$  is arbitrary. Hence  $\alpha^{(1)} = \beta$ . Similarly  $\beta^{(1)} = \alpha$ . Moreover,  $\alpha^{(2)} = \alpha, \beta^{(2)} = \alpha$ . Therefore  $(MF_k)^2(\alpha) = \alpha, (MF_k)^2(\beta) = \beta$ , and  $MF(\alpha) = \beta, MF_k(\beta) = \alpha$ .

This completes proof of Theorem 1.

If  $x^{(1)} = x$ ,  $x$  is called a root ;

If  $x^{(1)} \neq x$  and  $x^{(s)} = x$  for some  $s \geq 2$ ,  $x$  is called a recurrent sequence.

Suppose that  $x$  is a recurrent sequence ,i.e.,  $x^{(1)} \neq x$ , and there exists a positive integer  $q > 1$ , such that  $x^{(q)} = x$ . Then we have

$$x^{(mq)} = x, \quad \forall m \in N.$$

Now let  $x^{(2p)}$  and  $x^{(2p-1)}$  converge to the recurrent sequence  $\alpha$  and  $\beta$ , respectively.

Let  $m$  be even and  $m \rightarrow \infty$ , then  $x^{(mq)}$  converges to  $\alpha$ , so we have  $x = \alpha$ . By Theorem 1,  $x^{(2)} = \alpha^{(2)} = \alpha = x$ . This is the following

**Corollary 1** *If  $x$  is a recurrent sequence, then  $(MF)^2(x) = x$ .*

**Acknowledgments** I thank deeply the referees for their helpful suggestions and comments.

## References

- [1] I.Pitas and A.N.Ventsanopoulous, *Nonlinear Digital Filter: Principal and Applications*, Boston,MA:Kluwer Academic, 1990.
- [2] W.K.Pratt, *Digital Image Processing*, New York:Wiley 1991.
- [3] L.yin,R.Yang, M.Gabbouj, and Y.Neuvo, "Weighted median filters:a tutorial," *IEEE Trans.CS-II:Analog and Digital Signal Processing*, vol.43,no.3,Mar.1996
- [4] J.W.Tukey, " Nonlinear(nonsuperposable) methods for smoothing data," in *Cong.Rec.EASCON'74*, 1974. p.673.

- [5] W.K.Pratt, *Digital Image Processing*, New Yrok: Wiley Interscience, 1978.
- [6] F.Kwhlmann and G.L.Wise, "On the spectral chacacteristics of median filtered independent data," *IEEE Trans.Commun.*,vol.COM-29,pp.1374-1379,Sept.1981.
- [7] E.Ataman, V.K.Aatre,and K.M.Wong, "Statistical properties of median filters," *IEEE Trans.Acoust.,Speech,Signal Processing*,vol.ASSP-29,pp.1073-1075,Oct.1981.
- [8] T.A.Nodes and N.C.Gallagher, "The output distribution of median filters " *IEEE Trans.Commun.*,vol.COM-32,pp.532-541,May 1984.
- [9] N.C.Gallagher and G.L.Wise, "A theoretical analsis of the properties of median filters" *IEEE Trans.Acoust.,Speech,Signal Processing*,vol.ASSP-29,pp.1136-1141,Dec.1981.
- [10] G.R.Arce and N.C.Gallagher, "State description for the root-signal set of median filters," *IEEE Trans.Acoust.,Speech,Signal Processing*,vol.ASSP-30,pp.894-902,Dec.1982.
- [11] T.A.Nodes and N.C.Gallagher, "Median filters:some modifications and their properties," *IEEE Trans.Acoust.,Speech,Signal Processing*,vol.ASSP-31,pp.739-746,Oct.1983.
- [12] T.A.Nodes and N.C.Gallagher, "Two-dimensional root structures and convergence properties of the separable median filter," *IEEE Trans.Acoust.,Speech,Signal Processing*,vol.ASSP-33,pp.1350-1365,Dec.1985.
- [13] J.P.Fitch, E.J.Coyle, and N.C.Gallagher,"Root properties and convergence rate of median filters," *IEEE Trans.Acoust.,Speech,Signal Processing*,vol.ASSP-33,pp.230-240,Feb.1985.
- [14] S.G.Tyan, "Median filters: deterministic properties," in *Two Dimensional Digital Signal Processing, II: Transforms and Median Filters*,vol.42,ch.5, pp.197-217, Topic in Applied Physics, T.S.Huang,Ed. New York, Springer-Verlag,1981.
- [15] P.D.Wendt, E.J.Coyle,and N.C.Gallagher,"Some convergence properties of median filters, " *IEEE trans. Circuits Systems*,vol.CAS-33,pp.276-286,Mar.1986.
- [16] T,Sun, M.Gabbouj, and Y.Neuvo, "Center weighted median filters: some properties and applications in image processing," *Signal Processing*,vol.35,no.3,pp.213-229

- [17] J. Astola, P. Heinonen and Y. Neuvo, "On root structures of median and median-type Filters," IEEE Trans. Acoust., Speech, Signal Processing, vol. 35, n. 8, p. 1199-1201, Ago. 1987.
- [18] B. Zeng, "On the Root Structures of Weighted Median Filters," IEEE Trans. Circuits Systems, vol.38, no.11,pp.1402-1404, Nov. 1991.
- [19] B.Zeng, "Convergence properties of median and weighted median filters," IEEE Trans. on Signal Processing, vol.42,no.12, Dec.1994,pp.3515-3518.
- [20] D. Eberly, H.Longbotham and J.Aragon," Complete classification of roots to one-dimensional median and rank-order filters," IEEE Trans. Signal Processing, vol. 39, no.1, pp.197-200, Jan.1991.
- [21] Z.J.Gan and M.Mao, "Two convergence theorems on deterministic properties of median filter,"IEEE Trans.Acoust.,Speech,Signal Processing,vol.ASSP-39,no.7,pp.1689-1690, July,1991.
- [22] P.D.Wendt,"Nonrecursive and recursive stack filters and their filtering behavior," IEEE Trans.Acoust.,Speech,Signal Processing,vol.ASSP-38,no.12,pp.2099-2107,Dec.1990.